Patterning - Independent Work
1.
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2. 
[image: image2.png]Wasim’s hair grows 0.4 cm each week.

At this rate, which is closest to the increase
in length of Wasim’s hair over 3 months if
it is not cut?

a lem

b
¢ Sem
d




3.
[image: image3.png](Consider the pattern below.
1161, 387, 129,43
Which s its pattern rule?
To get the next term,
a divide each term by 3.
b divide each term by 4.
¢ subtract 86 from each term.
d subtract 774 from each term.




Pattern A is created by repeating the 4 terms below in order.









Pattern A
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If the pattern continues in the same way, what
will the 54th term be?
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Pattern B is created by repeating the 3 terms below in order.









Pattern B


Find a term in both patterns that is the same and has the same term number.
Show your work.

The chart below shows the first 4 terms of 4 non-repeating patterns.

	Pattern
	Terms

	W
	9, 12, 15, 18



	X
	60, 55, 50, 45



	Y
	16, 18, 20, 22



	Z
	960, 480, 240, 120




Which pattern will reach 30 first?

Show your work.
 Term number                       1		   2		3		4	





Term number                        1		           2		         3		








